Online Chapter 9, Appendix W: Difference of Means Tests for Feel that the System is

Rigged

strongly agree

How much do you agree with this statement? Our system is rigged against people
like me. 1 = strongly disagree; 2 = somewhat disagree; 3 = somewhat agree; 4 =

Group Standard 95% Confidence Interval
Mean Error
Non-Millennial 0.508 0.021 0.467 0.548
Millennial 0.570 0.192 0.532 0.607
Wald Test Non-Millennial = Millennial

F(1, 1249) =4.82
Prob > F=0.028
N=1,250

Note: Means test run on estimate sample, given survey weights for Millennial and
non-Millennial to correct for the oversample of Millennials. Data is 2016 survey.




